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For a certain contimous variable z

the probability that it has a value lying
between @ and @ + da is pl(r)da

The possible values of & range from a to b
i) What conditions must p(x) satisfy?

Define the average value (f(x)) of a fanction of . [(x)

The variance of the distribution is o7, defined by o = {(x
that o? = (x%)

(2))2). Show
({#))?. (A customary measure of the “spread” of a distribution
is @, which by the above result is equal to [(+2)

({))?]' /2. Frequently this
may be written as Ax.)




